M7 B - IBEBBRDEEL pH

IR DIKEER D W 2 3R X,

a) pH4.00 OIERE OKIER A)

b)  pH 4.00 DFFEEKEEIR (KIEHK B)
c) pH4.00 DHilEKIER KEHR C)

d pH4.00 D7 = UERKEEIR (KR D)

OB KR D pH Z FHHRE L,

e) /KA A L pOH4.00 ® NaOH /KiRiE % RMATEIR & L 7=k
f) KA B & pOH 4.00 @ NaOH /KiRiE % FMATEIR & L 7=k
g) /KA C & pOH 4.00 @ NaOH /KIEE % RMAFEIR S L 7=k
hy /KW D & pOH 4.00 @ NaOH /KIRiE % FHAFEIR S L 7=k
) UKIAIR A & KRR B & RIATERIR S L2 IRIR

) KT A LKA C & RIATEIRA LTI

% : pKa=4.76

it : pKa = 1.99
7 TR pKar = 3.10, pKy = 4.35, pKas = 6.39



